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DCI ) holds iff ⇒ - th bit is true

E( Is # , a. b. 5. Ji , aid ) holds off r( E) = r (g) and REE ' )=rC5D .

Five more relations :

* T
•

( binary ) T(a.6) means that a node represented by la , 6)
is inside a tree .

* R ( binary ) Rca ,
6) means that the node represented by Caio )

is the root of our tree

* U ( n-12 - any ) UCI , a. 6) is true (at least ) for all Éclat}
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where (a ,6 ) represents a mode in our tree

* D ( n-ary ) encodes depth

* Sr ( 4- omg ) Sn Carlo , Cid ) means that ( cid) is a
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* S2 ( 4- omg) Sz( a. 6. c.d) means that ( cud ) is a right
children of (0-16)
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